"

g x B =R

— &t H7E ANEstage (B - M)
SEEM TER294E 6H30H IR
(EEDER)

[FHEVEE]
(R& - 1EE)
TE He 59, 415
Bé& - e 59, 415
(5% L& HE)
* I & 1,051, 390
7 L Bt 1,051, 390
HENEES & 1, 110, 805
[BEgE]
(B EEEE)
= 7 3, 144, 287
EHEEEE 7 3, 144, 287
BEERERE 3, 144, 287
[ME&E)
RIS % 72,000
MIEEE Bt 72,000
BEAF 4, 327, 092
(BEDOER)
(s A K]
FKILWEA 401, 840
* I & 388, 726
HHE A& 1, 608, 902
oL & 130, 250
mENAEEE 2,529, 718
[BEAE]
REEAE 1, 650, 695
BEER/ESE 1, 650, 695
AEEFH 4,180, 413
(IERRATEEDER)
AT A B IE B B E 23, 335
X 1E kA RE YR AR 123, 344
IERMESF 146, 679

ABERCERMESF

4, 327, 092





